XD “6500” SERIES LARGE DRAWER “FIX-KITS”®

No. 6501 “Fix-Kit”

Phillips Oval Head Tapping Screws
Zinc & Chrome Plated
24 Varieties - 540 Pieces

é m“\\“‘“‘\\\\\\\\\ \

No. 6539 “Fix-Kit”
Phillips Pan Head
Machine Screws & Nuts
Zinc Plated
12 Varieties of Screws
4 Varieties of Nuts

No. 6503 “Fix-Kit”
Slotted Round Head
Machine Screws
Zinc Plated
19 Varieties of Screws
5 Varieties of Nuts

Auveco 2160 Pieces 1110 Pieces
Part No. Size Head AUveco AUveco
3069 #4x 3/4" Part No. Size Part No. Size
1793 #6x 5/8" 728 #8-32 Hex Nut 727 #6-32 Nut
1794 #6x 3/4 729  #10-32 Hex Nut 728 #8-32 Nut
1796 #6X 1 730 #10-24 Hex Nut 729 #10-32 Nut
1797 #6x 1-1/4" 733 1/4"-20 Hex Nut 730  #10-24 Nut
2024 #8x 3/8" No.6 15381 #8-32 x 1/2" 731 #12-24 Nut
2358 #8x 1/2" 15382 #8-32 x 3/4" 2530 #6-32 x 1/2"
2027 #8x 1/2" No. 6 15383 #8-32 x 1" 2531 #6-32 x 3/4"
1421 #SxHE No.6 | 12388 1004 xaia" 5533 4895 x1j2
1799 #8x 3/4" No. 6 5 -24 x 3/4" -32 x 1/2"

! 15389  #10-24 x 1" 2534 #8-32 x 3/4"
$§8$ §2§ ?44 No. 6 15393  #10-32 x 1/2" 2535 #8-32 x 1"
1802 #8x1-1/8' No. 6 15394  #10-32 x 3/4" 2536  #10-32 x 1/2"
2361 #8x 1-1/4" : 15395  #10-32 x 1" 2537  #10-32 x 3/4"

; 15398 1/4"-20 x 1/2" 2538  #10-32 x 1"

1803 #8x1-1/4"  No.6 | {5399  1/4"20 x 3/4" 2539  #10-32 x 1-1/4"
2362 #8x1-1/2" 15400  1/4"-20 x 1" 2540  #10-32 x 1-1/2"
1933 #8Xx 1—3{4" No. 6 2542 #10-24 x 3/4"
1717 #10x 3/4 No. 8 2543 #10-24 x 1"
2728 #10x 3/4" amﬁ» 2544  #10-24 x 1-1/4"
1804 #10x 1" No. 6 . 2545  #10-24 x 1-1/2"
1807 #10x 1-1/8" 2546  #12-24 x 1/2"
2046 #10x 1-1/2"  No.6 2548  #12-24 x1"
2665 #10x 2" No. 8 2550  #12-24 x 1-1/2"

Stainless Steel Phillips Head
Tapping Screws
24 Varieties - 1600 Pieces

w AuveCO No- 6536 “FIX-KIt”
Part No. Size Head Teks® Self-Drilling Screws
“Fiv Kit” 9399 #6x1/2" Oval Phillips Pan Head
Phihlipos. F6|a5t :'Is'c?p Vgeg(hg IIEIead 9400 #6 x 3/4" Oval Hex Washer Head
Tapping Screws 9401 #6x 1" Oval Zinc Plated
Black “E” Coat Plated 9403 #8x 1 /2: Oval 16 Varieties - 365 Pieces
12 Varieties - 1790 Pieces 2404 #8x34"  Oval
9405 #8x 1 Oval Auveco
Auveco 9406 zs X 1-1 721" 8va: Part No. Size Head
- 9407 8x 1-1/2" va

PartNo  Size 9409  #10x3/4"  Oval | 9605  #8x1/2" Pan
12950 #6x1/2" Black E Coat | 9410  #10x1" Oval 9606  #8x3/4" Pan
12951  #6 x 3/4" Black E Coat | 9412 #12x1-1/2"  Oval 9607  #10x1/2 Pan
12213 #8x1/2" Black E Coat | 13265 #6x1/2" Pan 9608  #10x3/4 Pan
12214  #8x5/8" Black E Coat | 13266 #6x 3/4" Pan | 11905  #12x1" Pan
12215 #8x3/4" Black E Coat | 13267 #6x1" Pan 9611 #8x1/2" Hex
12216 #8x1"  Black E Coat | 13269 #8x1/2" Pan 9612  #8x3/4" Hex
12217  #8x1-1/4" Black E Coat | 13270 #8 x 3/4" Pan 9613  #10x1/2" Hex
12218  #8 x 1-1/2" Black E Coat | 13271 #8x 1" Pan 9614  #10x5/8" Hex
12953 #10x 3/4" Black E Coat | 13272 #8x1-1/4'  Pan 9615 #10x3/4 Hex
12954 #10x1"  Black E Coat | 13273 #8x1-1/2"  Pan %616  #10x1' Hex
14859 #8 X 1/2|| Zinc 13274 #10x 1/2" Pan 11911 #12x 1 . Hex
14861  #8x3/4" Zinc 13275 #10 x 3/4" Pan 9620 #14 x 3/4 Hex
13276 #10x 1" Pan 11914 #14 x 1" Hex
13277 #10x 1-1/4" Pan 11915 #14 x 1-1/4" Hex
13278 #10x 1-1/2" Pan 11916 #14 x 1-1/2" Hex
300 THE COMPLETE FASTENER LINE "SINCE 1916" © Copyright 2013, Au-ve-co Products Co.



